Recall: the definite integral f: f(z) dz is the “signed” area under
the curve y = f(:I:) (If the curve is above the z-axis, you get a positive
number; and if the curve is below the z-axis, you get a negative number.)
Let f(z) = —x2 + 5z — 6.
1. Calculate the area between the z-axis and the curve y = f(z)
between x =1 and = = 2.

2. Calculate the area of the region enclosed between the curve
y = —22 4 5z — 6 and the z-axis.

3. Calculate the area contained between the curve
y = x2 — 5z + 6 and the z-axis.

Tip: Before you start, sketch y = —(z? — 5z + 6). Also, all of your
answers should be positive-we want area not “signed” area.)

Compute the following.

4. /xsin(:z;z) dz 5. /x\/3 —z dx
6. /tan(:c) dr  [Hint: rewrite tan(z) = %’;(%]
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You try:

Compute the following.

(a) /7 (3z 4+ 1)° dx
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(b) /fa:ﬂ dz
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(¢) / tan(z) dr  [Hint: rewrite tan(z) = S22} |
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Answers: (a) -1-15(226 — (—2)°); (b) _—5_2(3(2)3/2 — 4); (c) 3 In(2).
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1. Compute the following shaded areas.

(» y ¢
(=3,5) -

2. Draw the corresponding pictures and compute the areas of the
described regions.
(a) The region bounded by y = 22 — 2z and y = 4 — 22
(b) The region(s) between sinz and cos z over [—3m /4, 57 /4].
(c) The region under the curve y = arcsin(z) over [0, 1].
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